Appendix O -1 Navigator Education - Navigation Questions and Answers

Navigation for vessels crossing (test question)

Other vessel: 15kts Other vessel: 18kts

14 nautical miles

Bearing changed slightly to

) _— starboard due to vessel crossing.
40~ (approx.) On this heading, the vessel will
pass
in approximately 0.3 nautical miles
(in approximately 36 minutes).

Bearing changed slightly to
starboard due to vessel
crossing.

On this heading, the vessel will
pass in approximately 0.3
nautical miles (in approximately

14 nautical miles

36 minutes). Vessel travelling at 18kts. Other Vessel Speed
Vessel travelling at 18kts. Other vessel travelling at 15kts. 15kts
vessel travelling at 15kts. Vessel speed

18kts No other vessels involved.
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Actions to be taken by vessel itemized.

50~ (approx.)
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Burdened vessel

Rule 17 O Where one of two vessels is to keep out of the way the other shall keep her course and speed.

20 The latter vessel may however take action to avoid collision by her manoeuvre alone, as soon as it becomes apparent
to her that the vessel required to keep out of the way is not taking appropriate action in compliance with these Rules. In
this case, if the requirements of Rule 15.1 apply to these vessels, the burdened vessel shall turn to port unless impossible.

O O When, from any cause, the vessel required to keep her course and speed finds herself so close that collision cannot

be avoided by the action of the give-way vessel alone, she shall take such action as will best aid to avoid collision.
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